Tucson Unified School District

Assessment and Evaluation October 28, 2016

Report II.K.1.b TUSD Enrollment by USP Ethnicity, School and Enrollment Status - Magnet Only - 40th Day (09/29/2016)

Magnet Elementary Schools

										Asian/	Pacific			
		White		African American		Hispanic/ Latino		Native American		Islander		Multi Racial		
School	Enrollment Status	N	%	N	%	N	%	N	%	N	%	N	%	Total
Bonillas	Neighborhood	35	19.89%	15	8.52%	113	64.20%	10	5.68%	1	0.57%	2	1.14%	175
Bonillas	Magnet	16	7.88%	14	6.90%	159	78.33%	2	0.99%	3	1.48%	9	4.43%	203
Bonillas	District Placement	6	23.08%	3	11.54%	16	61.54%	1	3.85%	0	0.00%	0	0.00%	26
	Total:	57	14.11%	32	7.92%	288	71.29%	13	3.22%	4	0.99%	11	2.72%	404
Borton	Neighborhood	8	6.67%	14	10.37%	96	75.56%	3	2.96%	1	0.74%	5	3.70%	127
Borton	Magnet	77	28.21%	18	6.59%	160	58.61%	4	1.47%	3	1.10%	11	4.03%	273
	Total:	85	21.25%	32	8.00%	256	64.00%	7	1.75%	4	1.00%	16	4.00%	400
Carrillo	Neighborhood	4	5.56%	10	13.89%	54	75.00%	3	4.17%	0	0.00%	1	1.39%	72
Carrillo	Magnet	27	12.22%	6	2.71%	176	79.64%	6	2.71%	1	0.45%	5	2.26%	221
	Total:	31	10.58%	16	5.46%	230	78.50%	9	3.07%	1	0.34%	6	2.05%	293
Davis	Neighborhood	7	8.64%	2	2.47%	66	81.48%	3	3.70%	0	0.00%	3	3.70%	81
Davis	Magnet	42	18.18%	11	4.76%	167	72.29%	3	1.30%	1	0.43%	7	3.03%	231
	Total:	49	15.71%	13	4.17%	233	74.68%	6	1.92%	1	0.32%	10	3.21%	312
Holladay	Neighborhood	9	5.29%	26	15.88%	101	67.06%	6	3.53%	0	0.00%	13	8.24%	155
Holladay	Magnet	8	11.27%	14	19.72%	41	57.75%	4	5.63%	0	0.00%	4	5.63%	71
	Total:	17	7.52%	40	17.70%	142	62.83%	10	4.42%	0	0.00%	17	7.52%	226
Ochoa	Open Enrollment	0	0.00%	0	0.00%	1	100.00%	0	0.00%	0	0.00%	0	0.00%	1
Ochoa	Neighborhood	1	1.02%	6	6.12%	65	82.65%	7	7.14%	0	0.00%	3	3.06%	82
Ochoa	Magnet	2	1.96%	3	2.94%	83	81.37%	9	8.82%	0	0.00%	5	4.90%	102
	Total:	3	1.62%	9	4.86%	149	80.54%	16	8.65%	0	0.00%	8	4.32%	185
Robison	Neighborhood	27	12.33%	26	11.87%	157	71.69%	2	0.91%	4	1.83%	3	1.37%	219
Robison	Magnet	8	9.41%	2	2.35%	73	85.88%	0	0.00%	1	1.18%	1	1.18%	85
Robison	District Placement	5	17.86%	5	17.86%	16	57.14%	0	0.00%	0	0.00%	2	7.14%	28
	Total:	40	12.05%	33	9.94%	246	74.10%	2	0.60%	5	1.51%	6	1.81%	332
Tully	Neighborhood	10	5.53%	44	20.74%	177	64.98%	12	6.45%	1	0.46%	4	1.84%	188
Tully	Magnet	22	13.02%	17	10.06%	111	65.68%	8	4.73%	6	3.55%	5	2.96%	169
	Total:	32	8.96%	61	17.09%	288	80.67%	20	5.60%	7	1.96%	9	2.52%	357

Page 1 of 3 II - 65, p. 1

Magnet K-8 Schools

		White		African American		Hispanic/ Latino		Native American		Asian/ Pacific Islander		Multi Racial			
School	Enrollment Status	N	%	N	%	N	%	N	%	N	%	N	%	Total	
Drachman	Neighborhood	2	3.45%	8	13.79%	41	72.41%	4	6.90%	0	0.00%	2	3.45%	57	
Drachman	Magnet	35	14.06%	19	7.63%	178	71.49%	7	2.81%	0	0.00%	10	4.02%	249	
Drachman	District Placement	3	13.04%	1	4.35%	15	65.22%	0	0.00%	1	4.35%	3	13.04%	23	
	Total:	40	12.16%	28	8.51%	234	71.12%	11	3.34%	1	0.30%	15	4.56%	329	
Fickett Magnet	Neighborhood	113	28.83%	53	13.52%	186	47.45%	14	3.57%	9	2.30%	17	4.34%	392	
Fickett Magnet	Magnet	133	21.56%	110	17.83%	323	52.35%	8	1.30%	16	2.59%	27	4.38%	617	
Fickett Magnet	District Placement	5	27.78%	2	11.11%	9	50.00%	0	0.00%	0	0.00%	2	11.11%	18	
	Total:	251	24.44%	165	16.07%	518	50.44%	22	2.14%	25	2.43%	46	4.48%	1027	
Safford Magnet	Neighborhood	8	2.97%	23	8.55%	212	78.81%	20	7.43%	0	0.00%	6	2.23%	269	
Safford Magnet	Magnet	20	4.38%	33	7.22%	351	76.81%	38	8.32%	1	0.22%	14	3.06%	457	
Safford Magnet	District Placement	1	11.11%	2	22.22%	5	55.56%	0	0.00%	0	0.00%	1	11.11%	9	
	Total:	29	3.95%	58	7.89%	568	77.28%	58	7.89%	1	0.14%	21	2.86%	735	
Roskruge Bilingual M	Neighborhood	16	14.81%	3	2.78%	66	61.11%	20	18.52%	1	0.93%	2	1.85%	108	
Roskruge Bilingual M	Magnet	34	6.01%	18	3.18%	461	81.45%	34	6.01%	3	0.53%	16	2.83%	566	
Roskruge Bilingual M	District Placement	1	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	
	Total:	51	7.56%	21	3.11%	527	78.07%	54	8.00%	4	0.59%	18	2.67%	675	

Magnet Middle Schools

										Asian/	Pacific			
		White		African American		Hispanic/ Latino		Native American		Islander		Multi Racial		
School	Enrollment Status	N	%	N	%	Ν	%	N	%	N	%	N	%	Total
Dodge Magnet	Neighborhood	1	50.00%	0	0.00%	0	0.00%	1	50.00%	0	0.00%	0	0.00%	2
Dodge Magnet	Magnet	92	22.49%	32	7.82%	252	61.61%	9	2.20%	9	2.20%	15	3.67%	409
	Total:	93	22.63%	32	7.79%	252	61.31%	10	2.43%	9	2.19%	15	3.65%	411
Mansfeld	Neighborhood	39	7.01%	47	8.45%	425	76.44%	28	5.04%	6	1.08%	11	1.98%	556
Mansfeld	Magnet	51	20.48%	17	6.83%	161	64.66%	10	4.02%	4	1.61%	6	2.41%	249
Mansfeld	District Placement	3	27.27%	0	0.00%	8	72.73%	0	0.00%	0	0.00%	0	0.00%	11
	Total:	93	11.40%	64	7.84%	594	72.79%	38	4.66%	10	1.23%	17	2.08%	816
Utterback Magnet	Open Enrollment	0	0.00%	1	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1
Utterback Magnet	Neighborhood	7	1.96%	27	7.56%	296	82.91%	19	5.32%	0	0.00%	8	2.24%	357
Utterback Magnet	Magnet	11	13.10%	5	5.95%	61	72.62%	4	4.76%	0	0.00%	3	3.57%	84
Utterback Magnet	District Placement	5	16.67%	3	10.00%	21	70.00%	1	3.33%	0	0.00%	0	0.00%	30

Page 2 of 3 II - 65, p. 2

	Total:	23	4.87%	36	7.63%	378	80.08%	24	5.08%	0	0.00%	11	2.33%	472
Magnet High Sch	nools		,			-							,	
									Asian/	Pacific				
		W	hite	African A	African American		Hispanic/ Latino		American	Islander		Multi Racial		
School	Enrollment Status	N	%	N	%	N	%	N	%	N	%	N	%	Total
Cholla Magnet	Open Enrollment	2	2.94%	7	10.29%	58	85.29%	0	0.00%	0	0.00%	1	1.47%	68
Cholla Magnet	Neighborhood	123	8.00%	66	4.29%	1211	78.79%	104	6.77%	10	0.65%	23	1.50%	1537
Cholla Magnet	Magnet	17	6.27%	22	8.12%	220	81.18%	8	2.95%	1	0.37%	3	1.11%	271
Cholla Magnet	District Placement	5	21.74%	2	8.70%	14	60.87%	1	4.35%	0	0.00%	1	4.35%	23
	Total:	147	7.74%	97	5.11%	1503	79.15%	113	5.95%	11	0.58%	28	1.47%	1899
Palo Verde Magnet	Open Enrollment	20	21.51%	18	19.35%	49	52.69%	1	1.08%	1	1.08%	4	4.30%	93
Palo Verde Magnet	Neighborhood	188	24.51%	155	20.21%	354	46.15%	14	1.83%	29	3.78%	27	3.52%	767
Palo Verde Magnet	Magnet	56	17.39%	45	13.98%	185	57.45%	7	2.17%	10	3.11%	19	5.90%	322
Palo Verde Magnet	District Placement	25	34.25%	24	32.88%	14	19.18%	0	0.00%	3	4.11%	7	9.59%	73
	Total:	289	23.03%	242	19.28%	602	47.97%	22	1.75%	43	3.43%	57	4.54%	1255
Pueblo Magnet	Open Enrollment	6	4.38%	3	2.19%	120	87.59%	7	5.11%	0	0.00%	1	0.73%	137
Pueblo Magnet	Neighborhood	36	2.77%	31	2.38%	1184	91.01%	36	2.77%	4	0.31%	10	0.77%	1301
Pueblo Magnet	Magnet	9	3.75%	7	2.92%	188	78.33%	30	12.50%	1	0.42%	5	2.08%	240
Pueblo Magnet	District Placement	3	6.52%	1	2.17%	41	89.13%	1	2.17%	0	0.00%	0	0.00%	46
	Total:	54	3.13%	42	2.44%	1533	88.92%	74	4.29%	5	0.29%	16	0.93%	1724
Tucson Magnet	Open Enrollment	11	16.42%	4	5.97%	49	73.13%	0	0.00%	0	0.00%	3	4.48%	67
Tucson Magnet	Neighborhood	134	9.50%	82	5.81%	1081	76.61%	56	3.97%	28	1.98%	30	2.13%	1411
Tucson Magnet	Magnet	237	15.18%	110	7.05%	1081	69.25%	73	4.68%	19	1.22%	41	2.63%	1561
Tucson Magnet	District Placement	18	20.00%	9	10.00%	57	63.33%	2	2.22%	2	2.22%	2	2.22%	90
	Total:	400	12.78%	205	6.55%	2268	72.48%	131	4.19%	49	1.57%	76	2.43%	3129
	Grand Total:	1,783	11.90%	1,226	8.18%	10,749	71.75%	640	4.27%	180	1.20%	403	2.69%	14,981

^{***} Pre-School Not Included

Page 3 of 3 II - 65, p. 3